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BACHELOR’S DEGREE PROGRAMME 

(BDP)  

Term-End Examination 

June, 2024 

ECO-11 : ELEMENTS OF INCOME TAX 

Time : 2 Hours     Maximum Marks : 50 

Note : Question No. 1 is compulsory. Attempt any 

three questions from the remaining . 

 

1.  Prof. Vijeta Aggarwal declares the following 

particulars of income for assessment year 2023-

24. Calcualte her total income : 14    

(i) Salary  ` 5,000 p.m 

(ii) Servant allowance  ` 200 p.m 

(iii) Royalty from books ` 18,000 

(iv) Net amount received from Lottery ` 28,000 

(v) Expenses on Lottery tickets  ` 10,000  
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(vi) Winning from card games ` 6,000 

2. (a) What do you understand by casual  

income ? How are they treated under the 

Income Tax Act ? Give any five examples of 

casual income.  8 

(b) Who is an assessee and assessee in  

default ?  4 

3. (a) Explain the provisions of Income Tax Act 

applicable to Charitable or Religious  

Trusts. 6 

(b) What are the provisions for calculating 

house rent allowance ? 6 

4. (a) Explain the provisions of valuation of 

facility of motor-car. 6 

(b) Determine the Annual value of house of 

Mr. Pramod for the assessment year  

2023-24 : 6 

Municipal value ` 70,000 

House let out @ ` 8,000 p.m. 

Municipal tax paid by landlord ` 7,000 

Fair rent ` 80,000 

House remained vacant for 2 months.       



 [ 3 ] ECO–11 

  P. T. O. 

5. Explain the consequences of delay in filing 

return and incorrect information in return. 6+6   

6. Write short notes on any two of the following : 

6+6 

(a) Provident Fund 

(b) Encashment of leave 

(c) Capital Gains Exempt from Tax  

(d) Deduction under Section 80 D  
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(i) osru   ` 5,000  

(ii) ukSdj dk Hk kk ` 200  

(iii) iqLrdksa ls izkIr jkW;YVh ` 18,000  

(iv) ykWVjh ls izkIr ‘kq) jkf’k ` 28,000  

(v) ykWVjh fVdVksa ij O;; ` 10,000  

(vi) rk’k ds [ksy esa thr ` 6,000  
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` 70,000

` 8,000
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` 7,000 

` 80,000

6+6 

6+6

D
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